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“Management Accounting is“a combination of Financial Accounting and Cost

- Accounting.” Do you agree with the statement ? Why ? Enumerate which parts of

Financial Accounting and Cost Accounting are included in Management Accounting. 14

OR

‘Laugh Depo’ manufactures product ‘Joy’ and the direct material cost is budgeted as
follows : 14

Material Y : 35 units at T 70 each for every unit of product ‘Joy’. |
The price of material Y has gone up after the above budget was formed to < 105 per unit.

In the light of this information, the management has carried out a market study to
confirm that material Z can work as its substitute and is available at Z 91 per unit.

At the end of the budget period the statement of material indicated that product ‘J ey
was produced to the extent of 5000 units by using material Y-as follows : *

Quantity used : 1,76,750 units at the cost of T105.70
Analyse the Material Cost Variances :
(1) as per.the Traditional Approach

' (i1) as per the Opportunlty Cost Approach

Explain the difference in both approaches from the view pomt of Management

Following is the sales budget for the first six months of the year 2023 in respect of

Wisdom Limited 1 . 14
Month Sales (units) L .
January 10,000
February - 12,000
March 14,000
April o - 15,000
May | 15,000
June 16,000
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Finished goods inventory at the end of ca;:h-niopth is expected to be 20% of budgeted

sales quantity for the following month. Finished goods inventory was 2700 units on
January 1, 2023. There would be no work-in-progress at the end.of any month,

Each unit of finished product requires two types of raw materials as detailed below :
Material X : 4 kgs @ T 10/kg

Material Y : 6 kgs @ T 15/kg

Material on hand on January 1, 2023 was 19,000 kgs of material X and 29.000 kgs of

material Y. Monthly i:losing stock of material is budgeted to be equal. to half of the
requirements of next month’s production.

Prepare the following budgets :

(1)  Monthly production quantity for the quarter due.

(11) Monthly raw material consumption quantity budget from January 2023 to-March 2023.
(iii) Materials purchase quantity budget for the quarter one.
| | OR |

Distinguish between ‘Standard Costing’ and ‘Budgetary Control’. What are the
essential requirements for installing an efficient system of Budgetary control ? 14

Super Company Limited manufactures a standard product. ‘Annual budget for production
15 10,000 units but actual production and sales were 9,000 units. Direct wages standard
rate per hour is X 8 and variable overhead standard rate perhouris ¥ 10. 14
Other information is as under

Particulars Per unit Sta-ndard Cost E)—[ Ac‘tu_a-l Cosi ) |
Direct Materials | 20 | 1,85,000
| Direct Wages 24 | 2,18,000
Variable Overheads 30 " 2,71,000
| Fixed Overheads 16 ' 1,63,000
Actual Sales K 9 - ~9,10,000

Information of variances :

(1) Direct material rate variance and direct material usage variances are unfavourable.
Ratio 182 : 3.

(2) Direct labour rate variance is favourable but labour efficiency variance is

unfavourable. Ratio is 1 : 2.

(3) Variable overhead expenditure rate variance is favourable and variable overhead
efficiency variance is unfavourable. Ratio is 5 : 6.

(4) - Fixed overhead variance is uhfavourablq and fixed overhead quantity variance is
unfavourable. Ratio is 1.5 : 8.

(5) Sales price variance is favourable ¥ 10,000.

Find out actual profit as per budget and prepare reconci}iation statement.
- " OR
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3. Explain the difference between ‘Partial Plan’ and ‘Single Plan’ regérding accounting
treatment of variance. | 14

4. +(A) Mahadev Company Limited operates a standard costing system in its factory
located at New Mumbai. Based on its past record, it appears that the material cost
variance happens to-be T 24,000 a month, on an average. If the cause of the
variance.can be found and its correctible, the correction process will require one
month. This correction is likely to have favourable effect for a period of one
month. The investigation of variance will cost ¥ 4,000. Correction of the cause of
variance Will cost ¥ 8,000 and the probability for finding the cause is 0.40. Would
you recommend launching an investigation ? Why ? |

What is the minimum probability of finding a correctable cause that would justify

an investigation ? - - | 7
(B) Explain Cost Benefit Model. “ 7
~ OR '
4. Explain in detail the problems arising in interpretation of variance. ~ 14
5.  Select the correct option from given choices : (any seven) . 14
(1) Which one of the following is a financial budget ?
(a) Cash Budget ~ (b) Working Capital Budget
(c) Capital Budget (d) All of the above
(2) Bud getafy control helpsin implementation of
(a) Standard Costing © . (b) ~Marginal Costing
(c) Ratio Analysis (d) Technical Analysis
(3) Which budget is the first St€p of budgetary system and all other budgets depend
on it ? .
"(a) Cash Budget .(b)- Production Budget
' (c) _{Sales Budget (d) ‘Master Budget

(4) Which of the following are subsidiary of production budget ?

(a) Rawmaterial budget

(b) . Labour cost budget

(c) Manufacturing overheads budget
(d) . All of the above |

(5) The basic standard within the standard costing process is established for
(a) along period (b) the current period
(c) the short period (d) = an indefinite period
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(6) When was the term Management Accounting coined ?

“(a) 1970 - (b) 1950
| (©) 1940 | (d) 1931 .
- (7) Who discovered the term Management Accounting ?‘
(a) R.N. Carter (b) James H. Bliss
(c) Philip Kotler (d) F.W. Taylor
(8) What is the scope of Management Accounting ?
(a) Cost Accounting " (b) Budgeting
(c) Forecasting (d) All of the above

(9) Operating Variance = %
| (a) Original Standards;— Revised Standards
* (b) .Revised Standards — Actual Results
~ (c) -Original Standards — Actual Results

(d) None of these

( IO) In the formula C < (1 - P)L, L denotes for ‘ |
(8) NetBenefit (b) Cost of investigation
(c) Net Loss - . (d) None ofthese

(11) Which is not a cost-variance Investigation model ?
| (@) Statistical signification model

(b) Cost-benefit model

(c) Control chart mpdei

(d) Graphjcal,niodel

(12) As per J. Batty, Standard (_3_ost' represents under given conditions.

(g) Anticipated costs ,, (b) Current costs
(©) Historicaleosts -~ (d) Nope of the above

. .
e — Il—‘|—|__.




